o (GeV]

Ratio to ATLAS

2.5

1.5

0.5

[EEY

0.5

7.000. Ge\/ PP

Average p, VS N, (TWRD) (n| < 2.5, p_>0.5 GeV)

ATLAS

- Pythia 6.423 d6t

Pythia 6.423 default

— ---v-- Pythia 6.423 dw

—o— Pythia 6.423 p0

> t—-#:s&-a-*-*‘*‘*""’"‘*:

-

pe o
= AN - -

Q - O &— - J

Underlying Event

- -¥-¥

B T T ST B 3 SRR L 5 oy
‘%@‘*’k* 8 5 6 6066660606706
— — - =4 " U U U \J ' N4 =4 A4 N4 J
" 1 1 1 1 " | " 1 1 1 1 " | " 1 1 1 " |
0 10 20 30

chg

Rivet 3.1.0, = 6.7M events

mcplots.cern.ch [arXiv:1306.3436]

N

0.5



	Contents
	Page 1


